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- J12F Lol =HARH SE=S 20|98 =2U SAIJF 9= 01=229 224l o404 2z =H
- 2020 3€ Ol=9 A=0 Gis LZ2Z0CH AEHOS Y0822 0|HE %= QUles 4222 I 0l X
H, Hs4d &0
- 218 Ao 2SHEA HdiZ O Kl StE0l Hldhe 2HAEQ 28 JI=E
> EAEtE Y 2EHE
- A0S 320Ut &5 S2 Al 2222 EH0I&0 e e AFA2LE, D022 JtABHA
T W= OI2HXN LD AN MIF =2 It UAS A2 WA
- CI3H, OF&IMKl= SHERDIO TSt &fHs DIz AsS2e =Z2 MEtEY = U8, 2| =0 s82 1
Hsg s
P It E (S %)
Z23HE | 2260HE | 229HE | 21200 | =224 x234 254
HEg 21.11.27 ~ | 21.08.27 ~| 21.05.27 ~ | 21.02.27 ~| 20.02.27 ~
22.02.26 22.02.26 22.02.26 22.02.26 22.02.26
XIQt Sequence & ZF Xt _ _ _ _ _ _
8 NueaAde His 7.63 8.83 10.75 7.85 30.50
( HIDXIA0HH A2 ) (1.21) (5.61) (4.77) (3.31) (1.61) - -
H w X % -8.84 -14.44 -15.52 -11.16 28.89 - -
ZF(Class)d &t
Xl ot Sequence 8 EZE Xt
8 MR2EXAME Hi1s -7.78 -9.11 -11.15 -8.40 29.04 - -
A
( HIDXIA0HH A2 ) (1.06) (5.33) (4.37) (2.76) (0.15) - -
H m X % -8.84 -14.44 -15.52 -11.16 28.89 - -
Xl ot Sequence &EEIF
8 MNREXANE Hi1s -7.65 -8.87 -10.81 -7.93 30.29 - -
F
( DXl “E}) (1.19) (5.57) (4.71) (3.23) (1.40) - -
H x| -8.84 -14.44 -15.52 -11.16 28.89 - -
¥ Hl DX = (1 * [KOSPI])
% 9 —‘.E—IPg’—‘*,E A JuE LIEtE & Didiol SEHUE E&6t= A2 Ot LICH
P =R (it %)
AN SAE elS
p £=9l&El CHR: BHoLRl)
=3 ODAZ | 2 By, CH|CHS _
22 : SR . DIE g | zoa
FA T2 0S8 o | Bu|me| & [ IS5 e [ = 0SS
0| -66 - - 3| - - - - 0 -62
=>] -284 - - -2 - - - - 0 -294
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=Pl x|
7IEF @ 2.47 7|Et 70,39
EolEoE [@ 2.47 EhE2ol2 O 264
SExA | 0.00 x| 0.00
== | 0.00 =24 0.00
T AME | 0.00 o ArE | 0.00
SRS A | 1.24 ANSEXNEA | 1.46
o= 70.00 o3 70.00
A | 0.00 AMA | 0.00
=A L 1 93.81 ESV: ‘ ‘ =) 95.51
0.00 20.00 40.00 60.00 80.00 100.00 0.00 20.00 40.00 60.00 80.00 100.00 120.00
[XH&F7 o & 8] (EHSl: S4OHRl %)
=2 THA4 AL B
S5 e csn SIUE g | nase
TE [ =4 A s SXH[ =W | =2 ASRHAH| DIE E=
=2
KRW | 3.213 - - -1 o - - - - 86 86 3,386
(92.08) - - - .00 - - - - (2.47) | (2.47) (97.02)
UsD 61 - - 43 - - - - - - - 104
1,201.60 (1.74) - - (1.24) - - - - - - - (2.98)
SHA| 3,274 - - 43 0 - - - - 86 86 3,490
(93.81) - - (1.24)](0.00) - - - - (2.47) (2.47) (100.00)
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= % U8 Ns8S (SHol: OISR, %)
S ct
HE HE - = £ g
=% Bl = (%)* = HI = (%) *
RS S =2=1PN; - - - -
BHOH 3] A 1.51 | 0.04 1.16 | 0.03
X2 Sequence MEEXE AIREXIAE H15 A 1.43 | 0.13 1.08 | 0.13
Xt Sequence MEEXE AIREXAE 1S F 0.08 0.00 0.08 0.00
BT A 25| AF (A EFR XY 0.42 [ 0.01 0.39 [ 0.0
X o Sequence H2E Xt 2ABEALSR 22| 3] AL 0.32 0.01 0.29 0.01
g MRENE M1z B4 8 225 0.05 1.84 | 0.05
N 0.07 [ 0.00 0.05 [ 0.00
oo CHE0HOH. M 242 1.72 | 0.04 1.21| o0.03
" _|[z=aEsage = goiA 222 1 - B
=hasa N S
8| 1.72 | 0.04 1.21| o0.03
=2 {2 Al 215 | 0.05 156 | 0.04
x HEO| =XAESM(II2EE) Yl HIE
xx J|EHI 02t SIHZAHIE, S SO S L ZHHS S HEWAM ZARB=2NM02 =S HZO2 A OHOj-
= A42= HOE AYLICH
¥ dUEUY C HEAIE SIS
- [
p SEEUIE HIE (CHol: oIBHAF, %)
g BE MSIEHC HIB B
BHE oz ag
US| HOH-EHS | ES4HIE | oHo-soHa |,
vem) | 2zuse) | ENAB) | Tysn | 2zuge) | FAAD
X oF Sequence M2 E K& Sh) 0.00 0.16 0.17 0.00 0.16 0.17
MESERAE M= =»l 0.00 0.12 0.13 0.00 0.12 0.13
ER(class)" &
Xl Sequence M2EXH O] 0.57 - 0.57 0.58 0.16 0.74
MIEXHAE H1E A =51 0.57 0.57 0.57 0.13 0.70
Xl Sequence MEEXHE | 0.08 - 0.08 0.09 0.16 0.25
M2EXAE R15 F =Pl 0.08 - 0.08 0.09 0.12 0.21
=1) 222, HI2H 8(Total Expense Ratio)0lgt 22E4 S HOWA 2E5ls '249 JEIHREUS =X o O H
oM (HAHR XS JIE)O2 Us HIEBRA oY 28012 £ SN B8 S24H24FS LIEFYLICH
F2) DHOH-ZH2E42 HISO0IZ HOH-ZSHE22E =X CHHAM(BAH2 H2E JIF)O2 Us HE2AM iy
28|12 = EXNXNIF 2EE WOH-SMH2E220 22 LEILLICH
F3) ONEO Y DHCONA LAE HES NHCI FXsHs HISHE L2560 BHAISH 2X|QILIC},




6. S XX

» OHOH==4

OH OH LH <

T2 ® SldE

(SR =, SO, %)
X2t Sequence BE2EEXE AIREXRME HI1E
o * o < OHOH 31 & 5 7"
> = o = & = < ol & 0|2t oA BHAH
11,834 529 11,011 681 18.59 73.76
1) HEEEII12t 5 st FAJIHO SUHE oY REIIZ & ERE FA49 HWRIIMOZ L= HIE
> =232 OHH3|&EE F0| (49l %)
2021.02.27 ~ 2021.05.26 2021.05.27 ~ 2021.08.26 2021.08.27 ~ 2021.11.26
37.51 23.87 23.65
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